DEFENSIVE AND COMPETITIVE BIDDING LEADS , SIGNALS, GENERALITIES W B F CONVENTION CARD
- OVER SUIT OPENING : 1) Suit O/C NAT (5¢, <15 HCP) SUIT |[1st, 3rd, 5th Partner’s Bid CATEGORY:GREEN
Resp:S. R. (7-11A); J. R. (4 "¢ Prempt); SUIT(NFG); CUE BID(12 * A) 1st,2nd (NO HC) TWO OVER ONE(FG)
2)DBL (2nd Position ): Take Out or 16 HCP UNBAL NT |[3rd (Hxx) Ist, 3rd, S5th JA MAGALHAES / M.GONCALVES (277)
Resp: 14 (3*c ,0-5); 24( 4¢,6-9); 34( 5¢ ,6-9); CueBid (10"H or 3*c,10A) 4th,5th (*)
3) 1 NT : 2nd Pos( 16-18 H, Sist On); 42 ( 10-14 H); minors on Pass Lead |Vs.Suit |Vs.NT 2& STRONG
-OVER STRG 1 NT(2nd or 4th Pos):MULTILANDY:1)2# (5 *M + 4 *M) Ace Asks COUNT 2¢ MULTICOLOR
2)2¢ ((MULTI); 3)2¥/24 (5%/4 + m);4) 2NT(5m,5m); 5)DBL (5m + 4M) 29.4 WEAK 2 SUIT
-OVER WEAK INT (2nd or 4th Position ): 1)Dbl (11-14 BAL); King Asks Asks UNBLOCKor COUNT ’ 5
. . - . ENCRG/DIS 1¢(4c) EXCEPT (4-4-3-2)
2) 24 (Lundy( 5-4MM));3) 24,%,4 (NAT); 4)2NT(5m,5m) Queen Asks ENC with (AR or J)
-OVER MULTI: 1)DBL(13-15 Bal); 2)2NT DIR(19-21 Sist On); uee SKks wi R0 INVERTED MINORS
3)2NTDif (16-18H, Sist On); 4)Collins.........LEB (¥) Jack Asks COUNT BERGEN RAISES, TRUSCOT
- OVER 2 or 2 SUITs Weak:1)Suit(nat); 2)DBL(12 15Bal)Resp GUESTHEM(Modified) over 14 :.....2¢(Majors)
. a) 2M (4c, weak) 10 10x PROMISES (1 or 2 HC)
(*)b)2NT(LEB)...3#.....3Suit(Weak); Cue(4M +STP);3NT(No 4M+STP) IR HACIE 3% (& + ) Weak
c) 34,4, 4(8"H, Positif);d)3¥(4M ,No STP);e) 3NT(No 4M, No STP) 9 9x 10,9(x) LEBENSHOL; FADS 3¢ (» + 4)Strong
3) 2NT(16-18H)........cocc... (Sistem On) ; 4) 3NT (Nat) S S-S xS 10550 105S 3NT(GAMBLING MINOR SUIT)
5) 4%( minors); 6) 4¢ (¢+M); 7) Cue Bid (#+M) S () Hx33 5 X3 Sxxs T0x5x; 10x3x(x) 4% (SOLID SCV)
Over Opponent's overcalls : Hxx§ (0;HHXS (x) 5 HxxXSx 44 (SOLID 8ce)
-IN Suit: DBL(Take out)); Cue Bid (11"A) DISCARDS: NATURAL (high, low) DRURY
-IN 14 : Dbl (4c¥); 19(5'c¥); 14 (4 c 4) ] .
IN 19 : Dbl (4c 4); 14 (5'c 4) PREFERENCIALS : a) OVER PARTENER'S SUIT LEAD DOPI(ACE RESP)(OVER OC)
- IN Dbl ( minor opening) : Rdbl (10" HCP) b) LEAD TO RUFF REDOPI(ACE RESP)(OVER DBL)
19,4 (4"c, 0-9 HCP) ¢)SOLID OR VOID IN DUMMY 34,4(PRE-EMPTIVE) 34,9.4(F1)

INT (8-9HCP, stoppers)

-IN Dbl ( Major opening) .....cccceeeveeercrennrnennne 1)Rdbl (10°H)

-IN Dbl (2¢Multi opening)....1) Pass (¢) 2) 14 (47c #)

2) Rdbl(Asks suit)  3)INT(8-9,STP)
3) 29,4,3%,4,4.49 4 (Nat to play)

-IN Suit(*)...1)Dbl(Punitif) 4) 2NT(Sist on) 4)24(7-10A,3¢)
2)3 4,4, 49,4, (Nat to play) 5)24(7-10A,4¢)
3)3¥ (P/Crr) 5)3¥(Passor Crr) 6)2NT(11%A)

. 4) = 6) 4%,4 (Asks:Transf bid, Direct Bid)

-IN Dbl (INTopening):1) PASS(7-9H); 2) RDBL(10*H); 3) SUIT(S.O.)

-IN Suit Level 2 ( INT opening) :

1) Dbl (Punitive)
2) Suit level 2 (Sign Off)
3) 2NT (LEB):( weak #) or (FG + STOPPER ) - F.A.D.S
b ......... a) Pass (weak &)
b) Cue-bid (FG,4M + STOP)( STY)
c) 34,94 (FG, 5'c + STOPPER)
d) 3NT (10H, No 4M + STOPPER)
4)RUB: SUIT Level 3 (Transf) (FG, 5*c (up suit), No STP)
or (FG,4M ,No STP Transf to Cue )(STY) or (weak upper suit)
5)3NT (10H, NO 4M, No STOPPER)
6) 3 4 (5/4 MM)

d)OVER Ace, after King's LEAD
1) 4th suit (cheap)10H;4th suit(expensive)13H
2) Unusual 3v,4(Resp) = suit stop + compl in 1st opn suit
3)2suited O/C:Lower cue=raise;Higher cue= 4th suit +cpt
4) Support DBL/RDBL (3¢ in Responder’s suit);
5)1& ......P....... le....... 14, DBL =4c¥
6) INT - 2# ( Multilandy)........ - P 24 (Any Major)
7) 1 NT - Dbl (Sm+4M or Strg Hand) -P..a)2#(Any minor)
b)2¢(Any Major)

8) Im Dbl 1M, Dbl ( 4cM1)
9) OC OVER STRG 1# :1)Dbl (# + M); 2) INT (minors)

3)2& (¢ +M); 4)2¢ (Majors)

5) 2/3/4 Major and % minor (pre-emptive)

5v,4(Josephine to 6¥,4)(Asks 2 HH in trump suit)
SISTEM ON(SUBSEQUENT ACTION over OC
INTor 2NT(nat ) = SUBSEQUENT ACTION after INT
or 2NT(Opening)
RESPONSIVE DBL:1M......Dbl....
1m Dbl 2m DBL(M,M)
2SUITs:1m,M.....PASS....1.Mm..... )DBL(Normal)
2) m Cue Bid (5-5)Compt
3) M Cue Bid (5-5)Strong
1m........ Dbl....... 1Mi....ce.e Dbl( 4M1)
REVERSES:1)S.0:Same suit level2;2NT Mod a) Same suit
b) Any raise
2)Limit: Direct raise at the 1t suit
3) G.F: Same suit, level3; Direct raise 2nd suit;
4th suit (2 suit or Asking bid)
BLACKWOOD......... (30,41,2,2D)
EXCLUSION KEYCARD BLACKWOOD ....... (30,41,2,2D)..

2M......DBL(m,m)




0PN HP/HDP MIN n° ¢ RESP DISCRIPTION (OPPENER) SUBSEQUENT ACTION (RESPONDER)
1% 12 3*¢ 1¢ WALSH | (5-7H, No 4M) or (13H, 5c *¢ + 4M) 19,4 (58+4v,4)
1076 |12 (#)4c or 1v,14 5H, 47 ¢ 1)1/2 NT (Bal).cuurrerrrrrene 2/3 & (Check BaCK): uuuuummmrrrmsssrrerressens a)2,3¢ (BOTH)
3 with (4-4-3-2) ;:;0 fl{'(l)-lﬂ’sl\io(:)w; 4c (¢) INVERTED MINORs) b) 2,3 NT (NONE)
> / LOWER STOPPER
24/3%(Jmp) | 8-10H,5%c (»/¢)
3&/3¢ O-7H, 5*c¢ (Pre-emptive)
2NT 11-12H, No 4M
3NT 13H, No 4M
29,4 6¢ (6-9H) WEAK
1e 2% 11"H, (5*c¢ F1) or (10-12H, 6¢, Rebid in 3%, No FG)
1v 12 5 14 (0 -4ce). Raise (3c¥) ; Inv NT (11,12H); (6-10)H, No raise , F1.. | 1)INT (4c 4, 12-15H)
24 6¢ (6-9H) WEAK 2) 24,24 (3*c) @
INT 5*H, (5¢ #) 3) 2¥(14-16DH, 6¢ ); 4) 24(16"H, 4c 4, Inv); 5) 2NT( 18-19H) ; 6) 3¥(17-19 DH, 6¢)
1v,4 12 5 24,4 13 *H,(5¢, FG) or (10-12H, 6¢c, Rebid in 3%, NFG) 1) 2 #,2¢(3%¢) 5 2) 2¥(Nat) @ a) 24 (5-7A or Preferential)
14 12 5 INT Raise (3c4,5-7A or 11" A) ; Inv NT (11,12H); (6-10H, No raise, F1 | 3) 24 (14-16DH, 6¢) ; 4) 34 (17-19 DH, 6¢) b) 34 (11-12A, R hand (3c4))
c)4e (13-15A)
1v,4 12 S 2v,2 8-10A, 3c 1)24/3%/ ¢ /¥( trial+sing ); 2)2NT(trial, No sing); 3) Pass(Min)
4)39,4 (trial in trumps) d) 4 Suit (16A+); e) 2NT( 11,12H)
2NT(Jacob) | 127 A, 4c 1) 4v,4(Min, No Sing); 2)4%,4,¢¥ SPLINT(Min + Sing ); 3)3%,4,4,% (15"+Sing)
4) 3v,4 (15" H, No Sing)
34,v,4%,¢ 11-13 PH OUT OF THE SINGLETON,4¢ (SPLINTER)............... CONTROLS
3% 6-8A, 4c 1) 3v,4 (SO); 2) 34 ( Invitational) ; 3) Other (Control).................. Controls
3¢ 9-11A, 4c 1) 3v,4 (SO); 2) 3v( Invitational); 3) Other (Control)........cccceeuree Controls
39,4 /49,4 Pre-emptive
3NT 13-16H (No raise)
2#(MorNo) | STAYMAN 2¢ ( No Major) a) SMOLEN: 39(4¥+54); 34(44+59)
24,9 TRANSFER BIDs 29,4 b) 2NT (8-9H) (INVITATIONAL)
1NT 15-17H Possible: 24 (Transf) | 6m +2 H (A,R,Q) (TRANSFER) ..ccccvviiiiiiiiiiiiiiiiiiiiiiinennnne b\ T 3, ¢ Opener:1) PASS (NO COMPL)
5M or 6m ...2) 3ANT (COMPL H(x) or xxx)
BAL (2-2-4-5) 2NT(Trasf) | 6m (TRANSFER) (S.0. in minor).......ccceeeveveeeeennreeeennnns 3
3,2090 SLAM TRY STEPs: (xx, xx(x), Hx, Hx(x), HHx, HH(x))
4% GERBER 44(0Aces);4¥(1Ace);44(2Aces)
4¢ (MM )WEAK
20 DH (6¢) 1)2¢ RELAIS(0-7H, No Aces) ( waiting bid)
2% or 2)SUIT: a)2¥ (Weak, 1 Ace);b)24(Strong,1 Ace); ¢)3% (1Ace + 1K);d)3¢ (1Ace+2K);e)3¥(2 Aces same colour);f) 34( 2Aces same efficiency);g)3NT(2Aces sault);h)4,% ¢ ¥.4(3Aces out)
24 H (Bal) | 3)2NT (F1) (8* H, No Aces) or (2 Kings)
22-23H Bal.........cccuueueeee. SISTEM ON
2 ¢ MULTICOLOR) | 4-12DH (6¢ ¥,4)................ 1) 2v,4 (Pass or Correct)
2) 2NT(AsKing Bid)...cccoveiieiiiiniiniiniiniiiiiiiieiincnennns a)3%( min+¥) ;b)3¢( min+4) ; c) 3¥(max+4);d)34(max+v);e)4#(Ask transf bid);f) 4¢(Ask direct bid)
29,4 WEAK 2 SUITs (6-12 DH) 5c¢ ¥ + 4c (Another Suit) 5¢ #+ 4¢ minor a) 24 (Weak , To Pass or correct) ); b)2NT (Asks 2" suit); ¢)3,4 SUIT (Nat to play)
Possible: RLJ PUPPET STAYMAN ....1) 3¢ (4M) a) 39 (4ce)
2NT 20-21 H 5M; 6m 34 MINOR STAYMAN 2) 3v,4 (5¢) b) 34 (4cv)
. 309 TRANSFER BIDs 3) 3NT (No 4M)
A,K sing aNT Sat 4y
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